Name:

N Addition Word Problems

~_ Twenty plums are in the basket. Six more plums are
put in the basket. How many plums are in the basket
now?

N

One ball is in the basket. Two more balls are put in the

basket. How many balls are in the basket now?

w

~_ Twenty plums were in the basket. Thirteen are red and
the rest are green. How many plums are green?

Marin has four marbles and Steven has nine marbles.

How many marbles do Marin and Steven have
together?

o

Jackie has two marbles and Amy has three marbles.

How many marbles do Jackie and Amy have together?
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